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GCSE Mathematics
Practice Tests: Set 1

Paper 1H (Non-calculator)
Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser.

Instructions

e Use black ink or ball-point pen.
e Fill in the boxes at the top of this page with your name,
centre number and candidate number.
Answer all questions.
e Answer the questions in the spaces provided
— there may be more space than you need.
e Calculators must not be used.
» Diagrams are NOT accurately drawn, unless otherwise indicated.
» You must show all your working out.

Information

e The total mark for this paper is 80
e The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice
» Read each question carefully before you start to answer it.
e Keep an eye on the time.
e Try to answer every question.
e Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

Work out 5.4 x 0.24
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wj (Total 3 marks)

The height, A cm, of a table is measured as 72 cm correct to the nearest centimetre.

Evrar | nraned S

Complete the following statement to show the range of possible values of H.

:“:\’ﬁ FL.S Mo Hese ¥
"-\\ N
©. 715 M -?-Igr <Hc< 72f

(Total 2 marks)
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3.  Jane has a carton of orange juice.
The carton is in the shape of a cuboid.

Volime 4 Huuds %a%b)

I Diagram NOT
0 accurate]ly drawn

46 cm>

The depth of the orange juice in the carton is 8 cm.

Jane closes the carton.
Then she turns the carton over so that it stands on the shaded face.

Work out the depth, in cm, of the orange juice now.

moj;jm

New ghape

Gem X10em X Cem
= ugOocm
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dy 7

(Total 3 marks)

bem = d
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Steidard Formt

4. Write the following numbers in order of size.
Start with the smallest number.

0.038 x 107 3800 x 107 380 0.38 x 107"

(A A
5-€ 0-2% 380 003§

.....................................................................................................................................................

(Total 2 marks)
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(@) Translate shape P by the vector (_gj . - ﬁﬁh k
A down - @)
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(Total 5 marks)
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(b) Simplify 28 % 3a%b
= 2yaxaxb x3xa)exayb

.....................................

(Total 3 marks)
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7. Talil is going to make some concrete mix.

He needs to mix cement, sand and gravel in the ratio 1 : 3 : 5 by weight.

Talil wants to make 180 kg of concrete mix.
Talil has

15 kg of cement
85 kg of sand
100 kg of gravel

Does Talil have enough cement, sand and gravel to make the concrete mix?

Tetad parks [ 1FIHS = A4 parts = 120K
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(Total 4 marks)
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Rohe and Preportion

8.  Suha has a full 600 m/ bottle of wallpaper remover.
She is going to mix some of the wallpaper remover with water.

Here is the information on the label of the bottle.

Wallpaper remover
600 m/

l
Mix 2 of the wallpaper remover

with 4500 m/ of water

Suha is going to use 750 m/ of water.

How many millilitres of wallpaper remover should Suha use?
You must show your working.

) {
Mixdure: Poo q;oﬂ COOml = 1SOmL

C%lo)

(:3)

(xs)

RQ!\CN‘QI.’ Weter
ISOmL . 4SDO0ml

ISml : WSOmL
Sl & ISOmd

2Swml - FSOmL

_ =

(Total 4 marks)
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9.  Sasha carried out a survey ofi60

dents.

She asked them how many CDs they each have.

This table shows information about the numbers of CDs these students have.

Number of CDs 0-4 5-9 10-14 15-19 20-24

Frequency 8 11 9 14 13

C- L. 1 28 w2 60
(a) Write down the class interval contammg the median. (S- 1o

mad'an = O

™

—%OW
=S Shadords 29 -42 o0 i |5 \qdﬁa&‘i AS-19

(b) On the grid, draw a frequency polygon to show the information given in the table.
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(2)
(Total 3 marks)

Practice test paper 1H (Set 1): Version 1.0




10. Make g the subject of the formula 5(¢g +p) =4 + 8p
Give your answer in its simplest form.

S(q+p) =\ +8p
&Pm@\ SIL'IF-SP = "l""‘KP
('SP) 51/ - H'""bp

- td
(:.-S') c’/ -LLEE

T — L
(Total 3 marks)
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11. (a) Expand and simplify (x —3)(x + 3)

s o) 22 F ST — 3 WIS

cotlor | =+ —5

........ X F2xolS
(2)
(b) Solvex’+8x—9=0
Fectersa | (octa)(x-1) = O
ey e =-4 (R x|
e =:z9.ec.l.
(3)
(Total 5 marks)
12. (a) Solve the inequality So\uw:ﬁ \V\.ﬂtu»q,{; LWet
3+l <t+12
(-t) | i<z
(=) | ze <« “l

) Vi) e
( 72) e <A @)

(b) 7 isawhole number.
Write down the largest value of ¢ that satisfies

t+1<e+12

From (o e <tz

= £ 5.5
,k S ca Wl number s E = £ (.LCL@‘(*“') ................................. ( 1)

(Total 3 marks)
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13. The distance from Fulbeck to Ganby is 10 miles.

The distance from Ganby to Horton is 18 miles.
-

| 10 miles i 18 miles i
I I
Fulbeck Ganby Horton

Raksha is going to drive from Fulbeck to Ganby.
Then she will drive from Ganby to Horton.

Raksha leaves Fulbeck at 10 00.
She drives from Fulbeck to Ganby at an average speed of 40mph.

Raksha wants to get to Horton at 10 35.

Work out the average speed Raksha must drive at from Ganby to Horton.

S -
ouraey ) Jowaey
S = LOmeh s= 72 (@
D = lOmles D= 1Twmlas
S 1 T L T =20miules @
® T=2 @ T= 25,4 - 1Sis = dOmunukes
T = lOmiles o
O mph ® s -
s B g eles
= g haws o= 19w, - Slmih

20 rivundes

(Total 3 marks)

Practice test paper 1H (Set 1): Version 1.0 11




14. M is directly proportional to Z>.

WhenlL=2,M=1

60

Find the value of A when L =3

Dw,d— PPCPC“' hoa

(<)

M e L
3
M= L

60 = K(2)
160 = K
20 =

Direck Preporhen

(Total 4 marks)
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15. The incomplete histogram and table give some information about the distances some
teachers travel to school.

.
¢ '(l = F o K e
Frequency :
density =
= e
EEEE FRRRRETAY
; | I ’_:—— —: EER ; # T
T ;i = == “ O
1] 10 20 30 40 50 a0
Distance (d km)
(a) Use the information in the histogram to complete the frequency table.
Distance (d km) Frequency ﬁ 0\

7 0 ;
0<d<5 » 15 5 ute Wt de -F\.U\N\ -}w—@@iﬁ]"
5<d<10 20 =

0<d<20 | 25 2.5 wox2.5=25
20<d<40 200 |4 0. 2w0owo.8=I6
40<d<60 20 10 ©-5
2)
(b) Use the information in the table to complete the histogram.
(1)
(Total 3 marks)
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16. (a) Write down the value of 49°

a = 4q =V =]

=

(b) Write V45 in the form k+/5 ., where k is an integer. SUJ das

Jes=a-3% | = 2408

(Total 2 marks)

17. x=0.04& Qecwruﬁ D—QCUMDLAS |

Prove algebraically that x can be written as %

ki 2= O cBETUSLS ... 3
(o ] O % S WSSk -

ImLT__ L‘_.g LE S\Gr\-&:- T ¢

ooy =4S - % S 7§ gl T of

(000 2 —lode = LS WSESESL. .- O
O S Twl%.. .
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(+%0) T = M5 = IS - £ <. =
& . 3.0 330 i zz L.
teng Lof -
(Total 3 marks)
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Enlarge the shaded shape by a scale factor of -1 % centre (0, 4).

(Total 3 marks)
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19.  There are three different types of sandwiches on a shelf.
There are
4 egg sandwiches, =
5 cheese sandwiches ta_‘l’ Mmeans not J*QP(&CQd {
and 2 ham sandwiches. ‘

Erin takes at random 2 of these sandwiches.

t
Work out the probability that she takes 2 different types of sandwiches.

Sodwcon | Sendusion 2.
y o
C ~__sho , pleoO)= ,E:”"Is:é =%
l*// WH plew) = 555 7 os
*Ju ¢ v//o% C pa®) =5 <5~ 5=
‘. Xi‘ plevd = 5 % TG

S'/no = o
H /;7(:/5 PHIE) = ==& =55
e e s e R =
CHUHOY =5 <% = 2
I/I-‘:)

H
P(wo aiffoert (gres) = P& (e, H)+ P C.E) FP () +P(HEY TG )

_ 20+ B +204+10 ot & = +&

o It C%T&tal 5 marks)

-
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20.
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Ya
Diagram NOT
accurately drawn
&
s A \ - ’
~ O e T
\ XQ

In the diagram

A is the point (-2, 0)

B is the point (0, 4)
C is the point (5,-1)

Find an equation of the line that passes through C and is perpendicular to AB.

Gyroduenst AR
z4-0 = = =
m = ﬂ"—é‘ " _6_____'_2 ——'?: -
I—L"':L\
Crodient o BC \
¢ el ent @l ===
M, X WMz == | ﬂ" Crﬂ— =
«j:—"ix‘fc -] = ";’_(53 g
ok (Si0) -1 =-2 +C
i "
3 32 = c
(%) e Y ol 3
3
rj;mx4c ]Corm l‘\j - -}i._x' +_-_£ (Total 4 marks)
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Eqpahon of Cicles

2 Z
L —
(x-0)F(4-0) =0
21. (a) Construct the graph of x> +37 =9 W(dub) ', conbre. = (O/D)
' jus €
A ... s = 3 -
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2 ! ie
- X
: - ] J J;
|
T
1 . }
13 -2 i 0 \ 2 H x
N I
\ h
“; —1 ] \k I
] Fi i
: i N :
NS o5, ~1.b)
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(2)

(b) By drawing the line x +y =1 on the grid, solve the equations x* +3?

G’D-(lm‘ccwl S muldrenesyos VSN TNY

2 penis of
W fersechion

9 cenwve (oro)racius =3
1

........ i AL
......... ! S'. P ?"S-—
3)

(Total 5 marks)

Practice test paper 1H (Set 1); Version 1.0

18




(S¢ ASE VST

22.

Two solid shapes. A and B, are mathematically similar.

The base of shape A is a circle with radius 4 cm.
The base of shape B is a circle with radius 8 cm.
The surface area of shape A is 80 cm?.

(a) Work out the surface area of shape B.
LST b %
ALD ,
(=9 ! 2
ASF= (Ls§)” =
(= 80) §0 ' 320 320 o

The volume of shape B is 600 cm?.
(b) Work out the volume of shape A.
3 - N =
VEF =(s F) I~ 2 g [6cD
= (ANS ) ) I .
X, 5 600 T’: 15

(Total 4 marks)
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23.
Diagram NOT
accurately drawn.
A and D are two points on the circumference of a circle.
A and B are two points on the circumference of a smaller circle.
DB and AC are tangents to both circles.
E is the intersection of DB and AC.
E is the midpoint of AC.
Prove that ABCD is a rectangle.
B< = pE BE crd k@_mwﬁo%msmﬂuw
( Curde +eonem)
de = AE DE and. KE ave m»%mss—f,m\aﬂucwm
(el Hthraaram)
. BE =DE

AC- & Eis tue wedpovdt of AC

- HE:@E?;CE=DE
g, AMC = BD D:O-@CJ\.Q.!S I‘A\-Um o & (:U\gtjo_p“l e—CUU\M

\e
ARCD l———\- (Total 4 marks)

TOTAL FOR PAPER IS 80 MARKS
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